1.2 00000000000 7

1.2 JOoobogooud
gooboooobbooobbbuoooobbboooobobuoooobo

00 1.2.1 (00000). n0000000000RMPOOOOUDUOOR?

0000 F: U — R"O0000000O0COO0OFOUOCTD (r21)00
fi(ze, ... x,)

O000000000F = : 000000f (21, Tn), -,
fa(z1, ... x0)

folz1,...,2,)00CT0 (r=21)00000000000 x°=(29,...,29)

0000000000000000000000000

Of O
o B
DE(x")=| .
Ofn Ofn

D0D000yY=fx%) 000 V,VOODODDODDOODOD C'000 G:V —U
O00GoF =idgy), FoG=idy 000000000000

00 GO FOOOOOOOoOoooooo

00 1.2.2. 000 r000000 fi(21,...,2,)0 C"O0000000 s <7
oooo f(zy,...,5,) 00000 s000000000000000000
000

of; D% f; d° f;
—LWQDDDDD ——iLnsDDDDD———;Q——
6.773' 8a:j163:j2 8a:j1 ...8ij
000000000000000000000000000000000rO
0" f;
DDDD-—r;iﬁf@q+~4wn:mDDDDDDDDDCVDDDD
Oxi"...0zy"
Or000000000000000000r0000O0C"0000OC®™0O

100000 O



8 1. 00O0ooooo

gobboooobbboooobbobooo

00 1.2.3 (00000). 000 m, n 00000Om <nO000OnO0O
oboooooooooboovovUvog RMOooooD F:U—R™ODODOO

fl(xl,...,xn)
Oooooooor = : ouUuoCro (rz21)00000
fm(xla“-,xn)
o of
8111 8xn
00x%=(29,...,22) 000000000 DF(xY) = : :
A fm 9 fm
oxy Oz,
OoOooOo00ooog nO00000000C0DOO0O0O0O00 mOO0O0O000
oooooooooobooooooooooooooonb g, ...,z OOO
oh 9fi
6xn—m—i—l 6xn
Ooogoogo : . : OOoooooooooogogn
O fm dfm
amnferl 8xn
(2%,...,2% _ _YeR"™OOODWCR"™DOC 000¢g:W-—R™0O0O
9(37(1)7 o 7x9l—m> = (x(r)L—m—f—lv s 7372)?
F(z1,. . Tnm, 9(T1, o X)) = FI(x9)

gooooooooood

01.24. (1) f:R2— RO f(z,y)=2®—2+y200000000f0
gooooooooo

(2) ()0 fODDD00z€eRO0D f-Y()0000000000000
0dooooo z000o00oon

3) F:R®* —R?0 F(z,y,2)= (23— 22 +9%2)00000000F
goooooooood

(4) (3)0 FOOODO(s,t) e R2000 F-l(s,)00000MO00
0000000000 (s,t) 00000000



1.2 OJO00OOOOOoOOOOod 9
OO0OR"ODO0OO00OO00O0OCOOOCOOO 00002000 U0 C™0O
00 f:U—R"'000U00 rankDf =n—1,UNC = f"'(f(z)) 0000
D0000000DMO000000000O0non

DDDG)D%:%?%?:%&@—L%)DDDDDDDDDDDDD

000000000000000 M
(2)00000000000000000000000000000 200
0000000000000000000MO0000000000000
00000000000000000000000000000000000
00 m
Df0000000000000Df=(0,0000000000322—1=0,
2y:0DDDHrLJDDDDDDDDDDDDDDDDDDDDDDDDDD

V3
DDDDﬂii—m—xﬁi-DDDz¢ijL
Qﬁ’ 13\/5' 3V3
0f(—)00(-—=,0)000000000000000000000
f G 00 (-0
DDDDDDDDDDDDDDDDDfol(—i)DD(L,O)DDDDDD
3v/3 V3
0000 ROOOOOOO
; ofi 90f 3ﬁ ,
(4 | oz B 3z —z 2y —=x
($P1_<h>DDDDDF__ ot éﬁ/ Gh __< . ) 1).
Jor Oy 0z

00000000000000D0000000000000000 [0
(4)00000000000000000000000000000 (s,t) O
0000000000000 000MO00000000000000000
00
DF O (2,3)000 10000rankDF < 20 322 — 2z = 0 00
000000000z = 322 00 vy = 0000000000

(0)-(2)

nooooooooo (2)°#(2)°

xGR}.DDD ﬂ&wezR](;zz(%f}DD



10 1. OOoOoOoood
D(;Q:(@gDDDDs>ODDDF’W&QDD(—Q%ﬁJLQDDD
000000000000000000000000000000000000
s<0000 F~Ys,¢)00 (27%s/3,0,4) 0000000000 ROOOO
00000 F10,0)0 zy 000 2000000000000000000
00000000000 ROO R?00000 C>*00000000000

goboobooogoooooooon

01.25. RRO0D0D0D0D0000000000000000O000000

(1) C={(z,y,2) e R® | 2? +y? = 2%}

(2) Xf:{@ﬂh@é}ﬁ 22:—ﬂ3+y”—nﬂw+3f+y”—n'}
{(z =3)? +y* —1}{a® + y* - 25}
3) Y={(z,9,2) R’ | 2 = ~{(x +1)* +y* - 1}{(z — 1)* +* — 1}}
O0D0OR]*000000000SO0O0SO00 z00002z000 U0 C™®0O
00 f:U —ROOUOD rankDf =1, UNS = f'(f(z)) 00000000
Dddodmoooooooooooood

0000000000000000000000MO0000000000
000000000000000000000000000000@

(1). co0000f(z,y,2) =22+y?>-2200000Df = (2z,2y, —22) 0
000(0,0,0000000f(z,y,2)=000000000000000 (0,0,0)
00000 (0,0,000000000000000000(0,0,00000000
000000000000000000000CO00000000000

(2. XO00DOOOOOOOOOO0OOOO0O0O000000 f(z,y,2) =
91929394 +2%, g1 = 22 +y* =1, g2 = (x+3)° +y* —1, g3 = (—3)* +¢° — 1,
ga=2>+y>-250000f=00000 (2,9,2)0 (z,y) DODDOOOODO
91929394 <000000000000 50000000000 (£3,0), (0,0)

DDDDDDDDDDDDDDDDDDDDLU:(%1?;?5DDDDD
xr 0y 0z



1.2 00000000000 11

of
55Z%m%m+2@+$m%m+2@—$mmm+2mww3

= 22(929394 + 919394 + 919294 + g19293) — 6 - 2 - 629194
=22(929394 + 919394 + 919294 + 919293 — 369194),

of
—— =2y(929394 + 919394 + 919294 + g19293)

p)
of
0z

0000z #00000000000000000000002z =0000
gwww4:ODDDDD%£g§DDDDODDDDDDDDDDDDDD
ooo
m:ommmmmm%%¢ommmmmmmmG%é%):ommmm
(r,y)=000000000 ¢, =000000000000g; =0,2=00
O000000000000000
g4:ODDDDDgww3%ODDDDDDDD(%g%?::ODDDD
(r,y) =000000000 ¢4=00000000¢g4=0,2z=000000
000000000000

of

92:0DDDDDglggg4#ODDDDDDa—:ODDDD y=000000
Y

0
DDD(—&Q@DDD(—l&@DDDDDDDDDDgﬁ:—@wdbﬁf—
xr

=2z

0
1-36} =—-8-12¢194 00O o _ —8g194{(—5)* =1 —36} = 8- 129194 0

ox
0000000000 000g, =0,z=000000000000000000
0
93:0DDDDDglggg4#ODDDDDD8—f:ODDDD y=00000
)

DDDD(ZQ@DDD(&Q@DDDDDDDDDD%K:—@wﬁf—l—
xr

%}zS&%w4DDDgg:—@wﬁﬁ—l—%}:—&1@w4DDDDO
000000000g;=0,2=000000000000000000
D000XO00O000O00000MO00000000oo0onooonoa
00
(3). YOODOODODDOOODOODOODOOOOODOOO0O f(x,y,2) = g192+22,
Gg=@+1)?+y> -1, go=(@—-1)2?+y*-100000f=00000
(r,y,2)0 (r,y) 000000 (£1,0000000000000000000



12 1. 0O0O0ooooo

goo

of 2 2 2 2

g— =2(x 4+ 1)g2 +2(x — 1)g1 = 2x(22° + 2y*) + 2(4x) = 2x(22° + 2y* + 4)
'55 =2y(g2+ 1) = 2y(22” + 2y°)

g =2z

0z

Df=00000 (z,y,2) =(0,0,0) 0000 (x,y,2) # (0,0,00 00000
YDDDDDDDDDDDD(0,0,0)DDDD YO R?0000000000
0OO0Y O (0,0,0000000 (0,0,000000000000

000000000000 0000000000
00000 F : U — R™O0OO0O0OF : U — R™™ x R™

X1

0 Fz,...,z,) = : O00000F 00000000

xnfm
F(xb 7xn)
1 0 0 0 0
0
0
O “ e O 1 O “ . 0 D D D D D D D D D D
of df1 df1 9f
o, 7 e Omem T 0m
Ofm O fm Ifm O fm
o T B Bmnm T Ou
(Wﬂ; L 0000000000000000000000
8xj i=1,....m;j=n—m+1,...,n
0000000 (@Y,...,2°2 F%)OODODODVOC oooG:V —U

00GoF =idgw), FoG=idy 0000000000
R"O000n-mO0000000 mOOOOOOOOOOR" 3 x =
(Xl,Xg) cR*™ xR™O00OO



1.2 00000000000 13
ﬁ(thz) = (x1, F(x1,%2)), G(y1,y2) = (G1(y1,¥2), G2(y1,y2))

0o00
FoG=idy OO

(G1(y1,¥2), F(G1(y1,¥2), G2(y1,¥2))) = (y1,¥2)

DO0ODOODOR™™O00000 Gi(y,y:) =y 0000000 R"000
D00000F(y1,Ga(y1,y2) =y 0000y, =x1, y2 = F(x$,x9) 00
00g(x1) = Ga(xy, F(x9,x9)) 00000 F(xy,9(x1)) = F(x) 00000

000000000000000000000UD000000000(x1, F(x))
goboboooooboogdg

0 1.2.6 (00000000). R"O0000 00000000 Cto00

G:U—R" Gx)=(g1(x1,.. ., Zn)y. .y gm(z1,...,2,)) DU OOODO
00

000000 A00 }6—92]§KDDDDDDDDDDDDX,x+v6AD
T

100 G(x +v) - GG < viamK]v|
O0D0g 0000000000 UDO0O0OD0ODO0ODOOODOODOn
gi(XJrV)—gi(X)=2372,Uj+5i(xav)l|vl|
) 7
DDlin%)si(x,v):(). O000x+(t+s)v,x+tvO0O0O0000000O0OO
V—

n

dgi
8a:j

d
—gi(x+tv) =

dt (X+tV)UJ

j=1
oooooooo

t=1

Gi(x +v) — gi(x) = [w(uw)}t 0

/ {dtgz x +tv)}dt
ng
/ {Z . B, (x+tv)v;}dt




14 1. Jooooooo
O00x+v,x0 AOD0OOO0ODOOte[0,1]00000x+tve A0OOO

n n
0000000000 K) || 0000000 |vy| £ valv D000
j=1 =1

|9:(x + V) —g:(x)| = VnK]lv[|. D0OD[G(x+v) - Gx)|| = vVmnK]v]|.

01.2.7 (0000 000). f:R™ —R", ¢g:R —R"0000000
D00000000000000£(y) = (A1, Ym)s- s fo(W1s s Ym)),
9(x) = (g1(z1,...,2¢), ..y gm(z1,...,20)) 00D O0O00O0DOOOOOOOO
_Ofi
f,g0000000,n0mO000Df=(5")._, .. .m0 (00

ayj n;i=1,....m
Jg; ¢
DDDg:(&:) mike1,.. 00000000000 fog: R — R"

DDDDDDDDDDDDDDDDDDDfogDDDDDDDUomDDD
0 D(feog)(x)=Df(g(x))Dg(x)0D00D

ooof (@=1,... )DDDDDDDDDDDDDDaﬂ
y

(y)0DOOOOy
J
00000000000000000000f000000000000000

m

of,
fily +v) = fily) =) 5 v +en(y, VIV
puriell
0000limes(y,v)=00000000g=(g1,...,9,) 00000000
V—
6 .
000000 Y (x)00000x00000000000000000000

6a:k

l
9
gi(x+ ) —g;(x) = Y =~ -+ 2, (%, u)Ju]
k=1

°"\

9g;

DDDDDDlimc’gj(x,u):()DDDDDDDDXDDDDD‘
u—0 6a:k

bobbdgUobbooobbbuoooobbgoo

|0 KD

lg(x +u) — g(x)|| < KvVem |ul|.

0DO000u|se0000O



12 00000000000 15
filg(x+u)) — fi(g(x))

=Y aylxt ) = )

+€fi (g(X) g(x+u) — g(x))|[g(x +u) — g(x)|

—Z@ S0+ 4, ) )
J =1
+5f1(9( ) g(x +u) — g(x))KVeml|ul|
ofi agj
_Z{Z Oy, Dy )

k=1 j=1

HZl 8—§;€gj (x,u) + £, (9(x), g(x + 1) = g(x)) K Vlm} |u]

OD000u—00000¢gg,(x,u) — 0, g(x+u) — g(x) 000 ey, (9(x), g(x+
w)—g(x)) »0000000000000000 {o} ~ 0000000 fiog

0 0
DXDDDDDDDDDDDDDDDDZ Ji og 2% npono 0fi ,
8yj oxy, 8yj
0 ; 0
ﬂDDDDDDDDDDDDDDDDDDDDZ fzo 99 0 xooo

ox . jzlﬁyj 81%
00000000000 fogU0DO0UDUDUDOUDOOOOO D(fog)O
00000 Dfogd DgOOD0OODODODODODODODODODODO
ooogo

0 1.28 (Croop0on). f:R™—R", ¢g:RF—R™0O000C"O
D00D00D00000000 fog:RY—R*OCTO00O00DO0OO
ooo

r=100000000000r,220000000000000000000
0000000 r—-1000000000000f,¢0 C"O000000DY,
DgDO Cr~'0000000D0D0DO00 (Df)ogO Cr-l00DOOOODODO
00 C*00000(Df)oghgD C™100000D(fog)=(Df)ogDg
0000D(fog)D C"'00O0D00fogO0 C"OOODODO



16 1. 0O0O0ooooo

1.3 0oouoooon

0000000000000x0F(xY)00R"00000Xx'000000
0000000000000 oo00oooooooooooooooooo
000000000000 00000000000000ooooooon

1.3.1 OU0O0Odobobooon
00 1.3.1 (0000000 DO0O0DO0OU0OO0ODODO). nO0OODOOO
000 R"O0D00O0DO0OODODODOUODUODODR'OODOCTO (r21)00

filze, ... x,)
F:U-—R'O00000F(0) =0, F(x) = : 000
fa(z1, ... x0)
df1 df1 1 0 ... 0
000DFg = | @ . | = 000000
ot ot )
ory T Oz 0 ... 0 1

00000000000V, VOoODoOoOoo C'o0oG:V —UO0
GoF =idgyy, FoG=idy 000000000000

DFO0000000000000000FO00000000000000
0000000000000 yOOOOF(x)=yO0OOx00000000
00000000 x,=y0OO0OO0O0O0000000FO0000000000
00 F(x;)—y0000000000000x%x,=x;, — (F(x;)—y)0000
O000F(x:)—yD0 0000000000x3=xy— (F(x2)—y)0000
000000000000 x4, Xg, ...00000 %2 —x1]|, ||x3 — %2, ... 0O
0000000x,0000000000000

F(0)=0,%x;=0—(F(0)—y)0O000x,=00000

H(x)=y—-F(x)000O0O0OHOOOOOO DHO 0D0O0O000O00OO



1.3 00000000 17

6 .
ooooooo fi
Z;

Oh; 1
-000000000e0e<—000000000060x<600
Ox; 2n
Oh;
D}a}ggDDDDDDDDDDDDDDD
L
000000000 HOOOOOODOO0OO0OO0O0O0O00 1.2600000

goo

OUo0o0 (21)000000HODO LOODOO

[1H(x +v) = HX)[| = enllv]

1)
000yOOo|yl 500000000
x0=0, x1=Yy, Xpy1=%xx— (F(xx)—y) (k=2)
0000, Xee1 00000 |[xp_y| <6, 3]l £60000

[xk+1 — Xil| = |x — (F(xk) —y) = X1 + (F(xx-1) = y)ll
= |lxx — F(xk) — Xp—1 + F(xp—1)|| = | H(xx) — H(xp—1)]

1
Senlxp — X1 = §ka — Xp—1]|

1
goooogn €§2—DDDDDDDDDDDDDDD
n

1 1
ks = xkll = o llxr = xoll = S Iyl

gooon
k

1
st £ 37 xess = xell < gllvl < 20yl < 6
£=0

000000000000 x40 0 |Ixe|| 6000000000 HOODO
0000000000000 00000000000000x,0000000
D00xO0D000000000 x00000x=x—(F(x)—y) 000000
Fix)=yOQoooQ

00000 x0 x| £6000000000000000000F(x;) =y,
F(xo)=y, OOOOO



18 1. 0O0O0ooooo

F(x1) — F(x2) =x1 + (F(x1) — x1) — (%2 + (F(x2) — X2))
=X1 — H(X1> — (X2 — H(Xg))

gooo

[ F(x1) — F(x2)|| 2 |lx1 — %2 — || H(x1) — H(x2)]l
1
2 [|x1 — xa|| — §HX1 — X 2 §HX1 — Xa|
010000000 |k -l £ 2Jyi —y:| 00x0y0000000000

Gly)=x00000GO HyH§§DDDDDDDDDDDDDDDDDDDD
00000 GoOoC'oD0000ooooooooond

F(x2) — F(x1) = DF(xl)(XQ —x1) + r(x1,X2)[|x2 — x1||

lim r(x1,x)=000000000000

Xo—X1

Yo —Y1
= DFy,)(G(y2) = G(y1)) + r(G(y1), G(y2)|G(y2) — G(y1)|

gooon

G(Y2) - G(Yl)

=DF gy, (y2 —y1) — r(G(y1),G(y2)) 1G(y2) — G(y1)

ly2 — y1ll

[

OooooooobDF = 11— DHO DH OODDOODDO i

2n
. 1
0000000000DHY 000000000 - 0000000
n
oo
D00 DH*Y 0000O0O0O0ODF ! 00O0000000G(V) 000
k=0

G -G
0 prooooooooool (ﬁ’g) (|“|“)H < 900000000
Y2 —y1

G(ys) — G
lim r(G(yl),G(y2))H (v2) (yl)H:ODDDG(y)DDDDDDDD
Y2y ly2 = 1
0000000DF gy, '00y;00000000000000GOCHO

0000000DFgyy 00




1.3 00000000 19

v % v 25 GL(n;R) . GL(n; R)

y — G(y) +— DFqyy —  DFgy) "

0000000000000000000DFOC'0000e 0 C>®0
000000r2=200000r-121000000000 GO C'O000
D00000DG =DFy) '0C'00000GO C?000000000
GO C*00000000s<r—-10000DG =DFy)y 0 C*000
00GO ¢+t 00000000000000 GO C"00000
00000000000000000000000000000

1.3.2 00000000000

0000000000000000000000A=DFx)000L(x)=
Ax—-x")+Fx)00D0D0DADDOOOOODDOOODOOOODOOLOO0
OL Y y)=A4A"1(y-F")+x°0000

U L R"
+x0 T TL
Uy — R"
Fy

Fo =x+— L7'F(x+x%0) 00000F(x) = L(Fo(x —x%0)) 00000
DFy(0) = DL (px)DFix) = A'A=1000000F 00000 V
0000000000000 Go:V—RrO000O

00000 G(y) =Go(L M y))+x00000G0 F(xo) OO0 VOO
oooo

F(G(y)) = L(Fo(Go(L™(y)) + %0 — %0))
= L(Fo(Go(L™'(¥)))) = L(L™(y)) =y,
G(V)ooo
G(F(x)) = Go(L™H(L(Fo(x — x0)))) + X0
= Go(L™H(L(Fo(x — x0)))) + %o
=Go(Fo(x—%x0)) +X0 =X — X9+ X0 =X

O000GO Crogoooooooooocrooood



